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101|R#A7 L 729 238 491 Kg |EME 1,404 216| 1,944 378
102|357 L 1,839 1,839 Kg BIE 1,566 532
111|&EEF £ 362 67 295| Kg |ERE 1,296 281|EEIRE - BAN 1,728 415
113|RAV S 3 1 2| Ke [E)I 432 =0 324
114|B5EFE 166 166 Kg e 2,700 432
15[ 1= 3 2 1| Keg |EE 1,944 431|&)Il 648 647
117[1E 185 91 94| Kg |EB 1,836 594/ 3,780 173
21| bl E 64 61 3| Keg |EE 865 486|%)Il 432 215
134[#= = 665 418 247 Kg |EE-EE 2,200 540|fE 'R & 2,808 1,512
137|&5ES. < 29 25 4l Keg |k% 2,700 162|x% 3,780 2,700
140(5 I 17 17| Kg FfE 38,880 17,280
147|EZ O 108 108| Kg ki 6,000 3,780
158|EIEA A LS 341 341 Kg R 2,160 864
201{Lvb L 914 914| Kg K% 405 306
203|/hd L 104 104| Kg ®e 378 324
205|3.3 L 228 228| Kg RI5 675 548
206| = 1F 625 625 Kg £4fH 972 367
208| Mo % 458 458|  Kg L 1,512 216
2094 B & LA 154 4 150 Kg | 1,485 KI5 972 756
210{1F AL 240 240 Kg [iO 4,320 1,161
212|&5E.3 Y 425 425| Kg BiE 1,998 864
254|E b ECH 681 52 629| Kg |FE 1,382 1,080|#13k 1L 2,063 756
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303[1A 20 33 33 Kg "E 864 756
315(7zb5 % 5 5[ Kg = I 3,780

319 h 578 578 Kg & - L 1,620 540
332|= 1 WA EF 191 191 Kg b 2,484 1,944
351|HH N 80 10 70| Kg |=i 4,860 3,780|8&E 4,536 3,780
354[1FE <Y 56 56| Kg Tz 1,728 1,242
355(dH & V) 185 185| Kg B - PE 1,728 600
356(L L & 65 65| Kg SER 1,512 810
357|RE 6 6| Kg BRE 3,888

358| KB 25 10 15| Kg |ZE40 1,620 ZH 3,456 1,620
362|Hm & 30 30 Kg JbiEE 1,008 756
401|H W 75 2 73] Kg |8 2,052 Iz & 2,160 972
402[5 R E 5 5| Kg 250 5,184
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512| A& AL 30 30| Kg b 1,450 1,390
523| A EARAT 2 O 562 562| Kg =] 4,104 1,170
54| ARE & 2V 36 36| Kg Bh 2,280 1,598
Bh4| X IE BWA AR 10 10| Kg b 950
558| 20 20| Kg b 972 918
560|487 2 401 401| Kg =] 2,500 1,650
576|4R & 1F 60 60| Kg B - A 1,836 980

1/1




S6ESHIR RIER)

P T R SR ST T ONES) e H

T HEInt e e 4.2 [
(it T BB 5 Te)
4, 7 H R (kg) o o5 FRAXIER |
S s — — i AL — — — —
AH #h5e FRIELS | FEHH =B () ) | e FEHH mfE () EE) | ZfE(M)

70110 BA 1,861 1,861 Kg B 3,456 396
704|LWb LET 2 2 Kg = 3,024 1,728
710(2 2 AT 238 238| Kg BRS 1,728 1,215
BlEFAI L 20 201 Kg SR 1,998 1,026
755|FH&» C 245 245  Kg Ko 864 568
7611 b BHAEL 18 18 Kg AL 2,160
76713725 W\ H 229 229 Kg Z1 3,150 1,188
B01[IBAL = 1S 194 194] Kg ¥ -mA 1,728 1,188
802|1 x| 30 301 Kg mE 1,242
8051 1E 1,125 1,125 Kg JbF 972 508
810|FAKF 224 2241  Kg bF 2,376 1,296
8lh|—W T AX 10 10 Kg 2Dl 1,194
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